CAAREEEE Sa0
RHSEE REREXBREU 4 —#hE ERNXEHEE
(B) FFMSF4R1H  (BE)FMO6F3IA3H
HEEMEAFY X M RERLS (B4 M)
# ¥ #® H FEW R E B =2 M-B® s &

E || REF/UEFERA 31,313,000 31,307,035 5, 965
XA | BREREFHEAIA 838, 500 50, 000 188, 500
i ZDHDUXA 0 96,570 A96, 570
3] EXFHRAG (1) 32,151, 500 31,453, 605 697, 895
2| X | AEXH 32,189, 000 32,035, 090 153,910
& |H|EXEXH 1,276, 000 1,173,593 102, 407
%) EHEXH 1,405, 000 1,011,164 393, 836
4z EXTFHIHE(2) 34,870, 000 34,219, 847 650, 153
B3 EXEFHESIMIELE(3)=(1)—(2) A2,718,500] A2,766,242 47,742
B | R | FEER B FUNAGT (4) 0 0 0
R|X|7Z7AF VR ) —REBORFXMH 486, 000 485, 760 240
B W EREHEXHE(5) 486, 000 485, 760 240
& BREBEETINERE(6)=(4)—(5) A486, 000 A485, 760 A240
% | UR | BB EEARILA 3, 665, 500 3, 465, 500 200, 000
D|A|ZDHMDFEBRAG (7) 3, 665, 500 3, 465, 500 200, 000
fit| 32 |FEIEEXH 461, 000 459,934 1,066
D(H|ZDOMDFEXHE(8) 461, 000 459,934 1, 066
b ZDMOEBEEIRZELE(9)=(7)—(8) 3,204, 500 3, 005, 566 198, 934
FliEEH (10) 0 _ 0
LPAEEWNIERESE (11)=(3)+(6)+(9)-(10) 0 A246, 436 246, 436
ATEIRILVEERES (12) 0 9,396, 124 A9,396,124
LPARIILERES (1) +02) 0 9,149,688 A9, 149,688
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FHOEE REREXEL V4 —#G L SXRTHHESE
(B)$H5E4F1E  (B) SH643A318

HEBUZEAF YR FMHRERULS (BfE - A
B F ® B LZEERE A AIEERE (B) B m (A)-(B)

Y | I | RERUSZFINE 31,307, 035 32,432, 336 A1,125, 301
| | & | REREZHSINE 50, 000 50, 000 0

£ Y—EREBIREEET (1) 31,357,035 32,482, 336 A1,125, 301

XEIANHGE 30, 482, 485 23,150, 871 7,331,614
FR|(EXE 1,173, 593 1,173, 552 41
g EHKE 1,011,164 2,735,494 A1,724, 330
b Y—EXEFBEMA(2) 32,667, 242 217,059, 917 5,607, 325
B Y—EXEEERELE(3)=(1)-(2) A1, 310, 207 5,422,419 A6, 732,626
4 | IR | F DY —E R FENS UG 96, 570 53, 900 42,670
| | & | Y—EREESMIREE (4) 96, 570 53, 900 42,670

E| & | Y—EXRFEHNERI(5) 0 0 0

R Y—ERXREENMEREE(6)=(4)-(5) 96, 570 53, 900 42,670
REBBELE(7)=(3)+(6) A1, 213,637 5,476,319 A6, 689, 956

| AR | 4FRIIRARET (8) 0 0 0
Al | & [$FRIERE(9) 0 0 0
# HREEELE (10) =(8)—(9) 0 0 0
LEEENEIEERE (11)=(7)+(10) A1, 213, 637 5,476,319 A6, 689, 956

e ATEAMR R BRI EZE (12) 12,034, 790 11, 546, 771 488,019
i LEARRBE RIS ESE (13)=(11)+(12) 10, 821, 153 17,023,090 A6, 201, 937
& HEAREEAREE (14) 0 0 0
3 F Dt DIET T HLEREE (15) 3,465, 500 0 3,465, 500
b ZDhDFEILEFEIEE (16) 0 4,988, 300 A4, 988, 300
] REAIGEHIR NG ZERE (17)=(13+14+15) - (16) 14, 286, 653 12,034, 790 2,251,863




